





The Test Station
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Trigger

* TOP & BOTTOM layer

scintillators

2x 1 m?

scintillators & tracking chambers

The 2 modules housing
are moved by step motors

automatically during data taking



The Drift chambers

Each chambers has 2 X layers and 2 Y layers

To disentangle the left-
right ambiguity, each
layer is staggered
respect to the other one
on the same view

Golden Event:
Fully Reconstructed Tracks with 1 hit per layer
(50% Selection Efficiency)



















Final
Receiver

Working Point:




Physical Strip:

Physical Cluster:

Expected Strip:




Strip
Av. Multi = 1.58

RPC Multiplicity
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for Strips and
Clusters

Cluster
Av. Multi = 1.08

Cluster Multiplicity S




Physical Clusters
Av. Size = 1.57
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Other Clusters
Av. Size =1.11

Other Clusters strips




RPC Efficiency as
a function of Strips

Efficiency = 0.960
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Tracks Impact Points of the RPC Surface
for Inefficient Events:
Spacers
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RPC Times Distribution

Peak 1
Peak 2
Peak 3
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- RPC Time -
Percentage of
Peaks presence as

a function of the
threshold

Only

S

Peaks 1+2

Peak 1

l

]

All Peaks




- RPC Time - N $
Percentage of T Only Peak 1
Peaks presence as :
a function of the

threshold

Peaks 1+2

threshold/100 {mY)




RPC Times Pulse widths

Physical Clusters
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Average pulse width is about 8 ns.
Some channels show shorter pulses.

Example of Pulse Widths
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Physical Clusters

RPC Times - Peak 1
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RPC Times - Peak 1
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Comparison between Standard and Wired OR
Strip Readouts as a function of Threshold

Receiver

Receiver




Multiplicities Comparison
as a function of the threshold
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Efficiency
Comparison with
Wired - OR as

a function of
the threshold

000000000000

-
[ =]

[ R R
12 14
threshold/100 {mYy)

Efficiency







